Modeling the Pythagorean Theorem worksheet Name

‘ Date ' Period

Consider the triangle with attached squares shown. How many numbered squares
will it take to fill the large square?

Answer

B
10}11}112}13

| 14]|15] 16|17
‘ 18[19|20{21] ,
22|23 24|25

We can also refer to the numbered squares as unit squares. Use the tick marks
along the sides of the large square to check the number of unit squares that fit.

How is this problem like the problems in the Perplexing Puzzles activity?

Now consider this triangle problem. How many unit squares are required to fill the
large square? f

Answer

Draw in the unit squares on the large square. Was your answer correct? Why or
why not?

How is the problem different from problem 1 and the problems in the Perplexing
Puzzles activity?



‘What has to be true for your observation about the sums of the areas of the smaller
squares and the area of the larger square?

Give the number of unit squares that would fit in the hypotenuse square.

4.

A=144

f



Find the missing area and wfite it in the blank. Be careful!

Find the lengths of the sides of the triangle and write them in the blanks.

10. 1.

Fill in the blanks below using the word bank.

t

12. Ina triangle, the square of the equals the
of the of the two legs.
Word bank: squares hypotenuse difference sum
acute right legs length




Which of the following shaded triangles are right triangleé? Circle the pictures that
show right triangles and place a big X on those that do not.

~ Proof Proof Proof

16. 4 a7 18.
{ A
[t
1 r'l i “l'
{ | 1
3
¢
Proof : P’roof Proof

Prove your choices in problems 13 — 18 using the areas of the attached
squares. '
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